%3 8 HHEX (AALFHE)

L HAPEZRI A 4 fiET)

A A E
T & A K % kL %A #h 1T % I £
2, 475, 000 M 2,475, 000 M e By .
(2. 250, 000 1)) (2. 250, 000 1)) FZS I RN AG BR 25 R gdps & o & TEHL
1 4
THBh AR M OB K6t e i E S Z 7t
1[EH SFf643H25H (H) 1% 1 BF 30 4y BAAL
2 H Sf643H 27T H (K) “F1% 1 1 30 43 BRFL
5] = E3) 1 =] £ 2 =]
= = £ K % A AL = R AL = | BER
1 2 1 5 B R 2 2 2,585,000 | i 2,475,000 M | %+l
A OE e B =
, RS R 2,607,000 1 | A FER | —
RETRR  BoE  F% =
3 | L&A W =
4 o=
5 wm =

FREEGHENEOBHIASE (BLAR) THD,

Lo LBy T,

SF644E3H 27 H




